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# test_sample.rb
require ’test/unit’
class TestSample < Test::Unit::TestCase
def test_tashizan
assert_equal(2, 1 + 1, ’1 + 1 equals 2.°)
end

end

e class TestSample < Test::Unit:: TestCase
— 000000000 Test:Unit::TestCase DO 0O 0O O
o def test_tashizan

— 0D000DODO0O00DO0O0O test’ DOOO



e assert_equal(expected, actual, msg = nil)
— expected ==actual 00000000000 msgd OO

o OO

$ ruby test_sample.rb
Loaded suite test_sample
Started

Finished in 0.002019 seconds.

1 tests, 1 assertions, O failures, O errors
e JOOOOOO...

$ ruby test_sample.rb

Loaded suite test_sample
Started

F

Finished in 0.029859 seconds.

1) Failure:
test_tashizan(TestSample) [test_sample.rb:5]:
1+1 equals 2.
<2> expected but was
<3>.

1 tests, 1 assertions, 1 failures, O errors

e JOODOODODO

— setup: UUOOOOOOOOOOOOOOOOOO
— teardown : OO0 0000000 DOOOOOOOOO

require ’test/unit’
class TestArray < Test::Unit::TestCase
def setup
Q@obj = Array.new

end

def test_size
assert_equal (0, Qobj.size)
end

end



assert(boolean, msg = nil)
— boolean 000000
e assert_match(pattern, string, msg = )
— string = pattern 000 00O O
o assert_raise(expected_exception klass, msg = 7) {...}
— 00O0ODDOO0OD00O0 expected_exceptionklass 000000000 OOOO0O

00 000Ori Test::Unit::Assertions O O O O
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e empty?
— 00000000 trueD 0000000 false OO0
® size
— 0DOooooooooooo
e push(val)
— Jdooooboooooooodgoda
e pop

— 0DOO0ODO0O0O0O0O0DO0ODO0O00bO0O00o0O0bDbDOOD Stack:EmptyStackError
oooooo



JO00o0oobooooooon Step 1
e Stack#empty? OO 00O

e JO0ODOODOODO empty? OOO

# test_stack.rb
require ’stack’
require ’test/unit’
class TestStack < Test::Unit::TestCase
def setup
@stack = Stack.new
end

def test_empty?

end

end
e Stack#empty? 00O (1)-00

# stack.rb
class Stack
def empty?
return false
end

end

e NOUODOOODOODOODODODO

e JODODODO
1) Failure:

test_empty?(TestStack) [test_stack.rb:6]:
a new stack is empty.

<false> is not true.

e Stack#empty? O true 0000000000 OCO0OO0DOOOOODOOOOO

e JIDIDOOOUDDO (Fakeit!) OOO

O00o0ooooooooon Step 2
e Stack#push O Stack#pop 0000

e JOODOODOODO 30 pushOO popOO00O 30000



# test_stack.rb (O 0O)
class TestStack < Test::Unit::TestCase

def test_push_and_pop

end

end
e Stack#push O Stack#pop 00O (1)-00

# stack.rb (0 0O)
class Stack
def push(val)
end
def pop
return 0O
end

end

e Stack#push 000 O00O0OOCOOOOOO
e Stack#pop 00O OOOOODODOOO

e JODODODOO
1) Failure:

test_push_and_pop(TestStack) [test_stack.rb:12]:
pop returns the last value.

<3> expected but was

<0>.

e Stack#push 00000 Stack#pop O 3000

e 0 00ODO Fake it!

Test::Unit 0 0 [

e ——helpUO OO

$ ruby test_stack.rb --help
Test::Unit automatic runner.

Usage: test_stack.rb [options] [-- untouched arguments]

-r, —-runner=RUNNER

-n, —-—name=NAME

-t, —--testcase=TESTCASE
-v, ——verbose=[LEVEL]



e JOODOODODOODOO

$ ruby test_stack.rb -n test_empty?

gooobooaoo

$ ruby test_stack.rb -t TestStack
e JIUD (OOOUNOUDODO

$ ruby test_stack.rb -r tk (Ruby/Tk)
$ ruby test_stack.rb -r gtk2 (Ruby/GTK2)

oboooooooo

$ ruby test_stack.rb -v

J00oooooooooon Step 3
e Stack#tsize 0O OO

e JOODODODOOODO 30 pushOODO size 0 10

# test_stack.rb (0 0O)
class TestStack < Test::Unit::TestCase

def test_push_and_size

end

end
o Stack#size D00 (1)-00

# stack.rb (0 0O)
class Stack
def size
return 0O
end

end

e JOODOOOOODOOO

e JOODOOO

1) Failure:



test_push_and_size(TestStack) [test_stack.rb:19]:
push increments the size.

<1> expected but was

<0>.

e Stack#size 0 1 000

e 000D Fake it!

OO0000000000000 Step 4
o Stack#size D000 (2)
e JO0IODOODOO 30 push OODO size 0 10
e 0O0ODO 50 push OO0 size O 20
# test_stack.rb (O00O)

class TestStack < Test::Unit::TestCase

def test_push_and_size

end

end
e JODOOOO
1) Failure:

test_push_and_empty?(TestStack) [test_stack.rb:26]:
a stack with data is not empty.

<2> expected but was

<1>.

Stack#initialize 0 0000000000000 0O00O @size 000

Stack#push 0 @size D000

Stack#tsize 0 @Qsize 00O

000000000000 00 Fakeit! OO0O0O0O00OOOCOCOOOOODOODOOCOO
(Triangulation) O O O



OO0O000oboooobobOogn Step 5
o Stack#empty? 0O OO (2)

e 000000000 30 pushOOD empty? 00O

# test_stack.rb (0 0O)
class TestStack < Test::Unit::TestCase

def test_push_and_empty?

end

end
e JOODODOO
1) Failure:

test_push_and_empty?(TestStack) [test_stack.rb:26]:
a stack with data is not empty.
<false> expected but was

<true>.

o Stack#empty? O Qsize 0 000 true 00O

OJ000ooooooooon Step 6
e Stack#pop 0O OO (2)

e J0IODOOOODO pop 00O Stack:EmptyStackError 00 0000

# test_stack.rb (O00O)
class TestStack < Test::Unit::TestCase
def test_empty_pop

end

end
e JODOOO
1) Failure:

test_empty_pop(TestStack) [test_stack.rb:30]:
to pop a empty stack raise an error.

<Stack: :EmptyStackError> exception expected but none was thrown.

o Stack#pop O O Stack#empty? O true O O Stack:EmptyStackError 000 0O O



JO0000000000004d Step 7
e Stack#pop OO OO (3)

e J0ODOOOOOUD 30 pushDOO 50 push OO pop OODO size d 10

# test_stack.rb (O00O)
class TestStack < Test::Unit::TestCase

def test_push_push_pop_and_size

end

end
e JODOOOO
1) Failure:

test_push_push_pop_and_size(TestStack) [test_stack.rb:37]:
pop decrements the size.

<1> expected but was

<2>.

e Stack#pop 0 @size 00O OO

JO0000o0o00ooooogd Step 8
e Stack#pop 0O OO (4)

e JOIDOODODOODO 30 pushOO 50 pushOO popO0O0O 50000

# test_stack.rb (O00O)
class TestStack < Test::Unit::TestCase
def test_push_push_and_pop

end

end
e JODOOOO
1) Failure:

test_push_push_and_pop(TestStack) [test_stack.rb:43]:
pop returns the last value.

<6> expected but was

<3>.
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e Stack#initialize 000 00O0O0O0O0OOO
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e Stack#pop 00000000 DOOOO0ODOODOOODOODOOODODOOO

Test::Unit O O O

e JUODOODODODOODOODO

# runner.rb
require ’test/unit’

Test::Unit: :AutoRunner.run(true)

e ruby runneryb DD DD D000 0000OOOO test*rb 00000000

e AutoRunner 0 0 --help 000

$ ruby runner.rb --help
Test::Unit automatic runner.

Usage: runner.rb [options] [-- untouched arguments]

-a, ——add=TORUN
-p, ——pattern=PATTERN
-x, ——exclude=PATTERN
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http://www.ruby-lang.org/ja/man/?cmd=view;name=Test %3A %3 AUnit

O000DD TDDO
http://www.objectclub.jp/technicaldoc/testing /stack_tdd.pdf

Rubyist Magazine 0 RSpec 000
http://jp.rubyist.net/magazine/?0021-Rspec

goooogn

OO0 WebOODO
http://www.ruby-lang.org/

gooobobooogd
http://www.ruby-lang.org/ja/man/

Ruby 0000000000 OOODOO
http://doc.loveruby.net /refm/api/

00 Ruby OO
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Rubyist Magazine
http://jp.rubyist.net/magazine/

okkez weblog
http://typo.okkez.net/
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